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Touchia Zidane Adaptation : P. Touvet
sur transcription de Y.T.

Inst. Ut 
1) Perc.,Vln
2) +SS,Tba(E)

1) SS,ST,Vln,Tba
2) --- ,ST,Vln,Tba,Tp1,Tbn

1) Tp1-2,Tbn
2)  --- , Tbn,SS,ST,Tba

1) Tp1-2
2) SS,ST,Tbn,Vln,Tba

-------------Tous-------------
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2 Zidane p2
1) Tba,ST,Tbn=Th.
2) SS,ST,Tp1-2 / Tba,Tbn=Bse

1) Tous / Tba=Bse
2) Tba,Tbn,ST --> decres...

1) Vln
2) Tous / Tba (C) 1) +SS 1) +Tp1

1) Vln,SS,Tp1

-----Tous------- -----Tous------- -----Tous-------

1) Tous / Tba=Bse
2) Tous unis + accel... 
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